ENGG 2760A / ESTR 2018: Probability for Engineers

Tutorial 9

1. Quiz 7
2. Homework 9
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Alice is about to take two laps in the CUHK swimming pool. The time of her first lap is £ minutes,
where F is an Exponential(1) random variable. The time of her second lap is S minutes, where S

is an Exponential(F) random variable. What is the probability that she comﬁl?tcs h_(i_g_(gnd_lap
within one minute?

PCSSU = SG: P(§S [, F:{—)ﬂ'f Cfo"m( PME T/\Ql)mlﬁfx)f\‘@
ofds = [ ' pCsss)ds (tladkfution of DF) @

-
> < = Ff) (@ 20
@ chuooQ : FN 6X{90mwtcal co) ./—) PG’/{’ (O j[w

! 2 -
S (B A prponential (F) Pl=s [Pz g F* €20

2 \ ) ofW
So PCSS‘,F%)&#L M)'F@:@jf

s U —

(ssi|Ff) EofslE o
(3 | ('—fso{ :gDOCEP! -\V@“Uefoh( Ijb(@fQZ}LOQJL
'ﬁﬁig—\i ) T L C - e
=gl =10 =~ +50 |, DRl
@ J[< ($=9)d s ;g ’:0 (S;S[F;Jt)p((:.ﬂt)gh

7T TP NZ AN


ENGG 2760A / ESTR 2018: Probability for Engineers 

Tutorial 9

1. Quiz 7
2. Homework 9


_f C§~H) 0( 6P :f(s Y O
()bl EdedT Tl

ST

HW9

A
(o) A theevet Tam TE 4
R. PCA[T=1) v@gg;@%ﬁs Knle

T[AQ (v/\/arl/\/\a( (;é,g/o&) ('to‘bx Pm\o ﬁi\ﬂ@VQ”
{£.Ce) pmﬁ@th?m >7LTAC<{JC> RO

2);

Crom 0, @, we can obtain 7(A[T—t)

B) P (A |Tet) > Peat| Tet), find Togatges
PR ST

P(A)][T{A (+) S ﬁP(AC)"fT(AC (FE}

&3 T
=) Oo( Tz >0 93/\@@)&
=) —t>§8 %5‘71 L AR L

(2




B2.(@) X, # of peods T two PS5
ﬁ?rs’r




= - ’%’Lofl():i%[“(;%}\
,>—ﬁ‘((>< (2(1\ “J-o %i E\>fﬂw\ next ZTGP? o @M&
ruj-(rgt arj—h S e Ir\o,ou& q
e S
’f\(lX<l 1) > 7L ) =/ [ &—go P T

- 5 T 1T e(a olo

A La

Z;;f@(,ec?mm; rowviahle

B%: X, , thetima Jor Lt rmndop 3o ponuial 0
Xp: o helwzzi ls*tNZWJQ - _ \Q’t +=0

Xé ‘ ~— ZhAr\/groQ - - 1 O O/VJ

= X% X2 Xi=20 | X220 :> Y e 0/\{]
i}sfi:jﬂxl Y-x,202 Xi=T | .

F/OV\\/O[WCIOM Nﬁor—w\v\\a
%\f (\j\:J D; y\(x ) Xz<y’xt) &1
e Sy -



2ol 2% 2 202 y<z'}
_y -G

Fa(2)= S of}\((j)]ﬂ(s(z j>OQ/ y@ 2 Of’y
je 0?)/— /“6 (220D

M

B {l Vnitorm (0 1) XTWQQWO(MT

(0‘))(:-( CORETINAD N \_/VL[‘(QHQ CfE — > PDF‘
Q/V\@l # ‘[7&\9\ Ww\ﬂ'o_ ]L \/WWLMQ,
w:ﬁC[h i> 7<><<Q/ )
/ ot , j
‘fx((xj - \ 5

6X>l _;> )()>o

> Pl SQX = /

>P X \ 65 ej;\\e[od] 2 y'<o FK((X\-_}XIO[X \ o(l}

AL B Cx

{Ex'vxl)“ AP Y= \ eX! Ao o %>t Fi&xﬂ(ajx:l
A’ \ O o/w I]Lx<o{3.x(’x):o









